## Bid #OPN2120943B1 - Household Hazardous Waste Collection and Disposal

Start Date Jun 11, 2020 1:27:52 PM EDT Awarded Date Not Yet Awarded

OPN2120943B101-01 Group 1: Section 1 - Mobilization Charge for One Day Remote HHW Event								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Clean Earth	First Offer - \$4,200.00	6 / each	\$25,200.00	Υ	Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:	-52	Supplier Notes:						
Clean Harbors	First Offer - \$5,900.00	6 / each	\$35,400.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OPN2120943B1–01-02 Group 1: Section 1 - Hourly Rate									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$48.00	3500 / hour	\$168,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>						
Clean Harbors	First Offer - \$51.00	3500 / hour	\$178,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: On-Site taking place on a design	e labor will be billed at do						

OPN2120943B1-01-03 Group 1: Section 2 - 5-Gallon Bucket with Lid									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$15.00	150 / each	\$2,250.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Clean Harbors	First Offer - \$18.00	150 / each	\$2,700.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OPN2120943B101-04 Group 1: Section 2 - 30-Gallon Drum									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$48.00	50 / each	\$2,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Clean Harbors	First Offer - \$52.00	50 / each	\$2,600.00		Υ				
Product Code:		Supplier Product Code	):						
Agency Notes:		Supplier Notes:							

OPN2120943B101-05 Group 1: Section 2 - 55-Gallon Drum								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Clean Earth	First Offer - \$35.00	500 / each	\$17,500.00		Υ			
Product Code:		Supplier Product Code	<b>:</b>					
Agency Notes:		Supplier Notes:						
Clean Harbors	First Offer - \$50.00	500 / each	\$25,000.00		Υ			

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

OPN2120943B1-01-06 Group 1: Section 2 - 85-Gallon Poly Over Pack Drum									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$150.00	10 / each	\$1,500.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Clean Harbors	First Offer - \$180.00	10 / each	\$1,800.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OPN2120943B1–01-07 Group 1: Section 2 - Fiber Drum for 4ft. Fluorescent Lights									
Supplier	Unit Price	e Qty/Unit Total Price Attch. D							
Clean Earth	First Offer - \$12.00	50 / each	\$600.00		Y				
		Supplier Product Code: Supplier Notes:							
Clean Harbors	First Offer - \$13.00	50 / each	\$650.00	-	Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>						

OPN2120943B1-01-08 Group 1: Section 2 - Fiber Drum for 8ft. Fluorescent Lights									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$15.00	35 / each	\$525.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Clean Harbors	First Offer - \$19.00	35 / each	\$665.00		Υ				
Product Code:		Supplier Product Code	<b>:</b>						
Agency Notes:		Supplier Notes:							

OPN2120943B101-09 Group 1: Section 2 - Vermiculite, Grade 2, 4 cu. Ft bag or approved equal									
Supplier	Unit Price	Qty/Unit Total Price Attch. D							
Clean Earth	First Offer - \$30.00	150 / each	\$4,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Clean Harbors	First Offer - \$45.00	150 / each	\$6,750.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OPN2120943B1–01-10 Group 1: Section 2 - Cubic Yard Box with Liner and Pallet									
Supplier	Unit Price	Qty/Unit Total Price Attch.							
Clean Earth	First Offer - \$56.00	30 / each	\$1,680.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:	-						
Clean Harbors	First Offer - \$90.00	30 / each	\$2,700.00		Y				
Product Code:	,	Supplier Product Code	2:		=				
Agency Notes:		Supplier Notes:							

OPN2120943B101-11 Group 1: Section 2 - Wood Pallets, approximately 48" x 48"							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Clean Earth	First Offer - \$10.00	200 / each	\$2,000.00		Υ		
Product Code:		Supplier Product Code	):				
Agency Notes:		Supplier Notes:					

Clean Harbors	First Offer - \$15.00	200 / each	\$3,000.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

OPN2120943B101-12 Group 1: Section 2 - Universal Absorbent Spill Pad - 100 Count									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Clean Earth		First Offer - \$60.00	20 / each	\$1,200.00		Y			
Product Code:			Supplier Product Code	):		-			
Agency Notes:			Supplier Notes:						
Clean Harbors		First Offer - \$110.00	20 / each	\$2,200.00		Y			
Product Code:			Supplier Product Code	):					
Agency Notes:			Supplier Notes:						

OPN2120943B101-13 Group 1: Section 2 - Liner for 20 or 30 CY roll-off container, 6-mil or greater										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Clean Earth	First Offer - \$50.00	6 / each	\$300.00		Υ					
Product Code:		Supplier Product Code	<b>:</b>		_					
Agency Notes:		Supplier Notes:								
Clean Harbors	First Offer - \$65.00	6 / each	\$390.00		Υ					
Product Code:	-	Supplier Product Code	<b>:</b>							
Agency Notes:	, i	Supplier Notes:								

OPN2120943B1–01-14 Group 1: Section 2 - Liner for 40 CY roll-off container, 6-mil or greater									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$50.00	6 / each	\$300.00		Y				
Product Code:		Supplier Product Code	<b>:</b>						
Agency Notes:		Supplier Notes:							
Clean Harbors	First Offer - \$65.00	6 / each	\$390.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

OPN2120943B1-01-15 Group 1: Section 2 - Nitrile Gloves, 5 mil or greater, 100 CT Box									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$12.00	50 / box	\$600.00		Υ				
Product Code:		Supplier Product Code	<b>:</b>						
Agency Notes:	_	Supplier Notes:	=		2				
Clean Harbors	First Offer - \$17.00	50 / box	\$850.00		Y				
Product Code:		Supplier Product Code	):						
Agency Notes:		Supplier Notes:							

OPN2120943B1–01-16 Group 1: Section 2 - Flammable Storage Cabinet, minimum 45 gallon capacity									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$1,200.00	1 / each	\$1,200.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Clean Harbors	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OPN2120943B101-17 Group 1: Section 2 - Corrosive Storage Cabinet, minimum 30 gallon capacity								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Clean Earth	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ			
Product Code:		Supplier Product Code	e:					

Agency Notes:		Supplier Notes:			
Clean Harbors	First Offer - \$1,800.00	1 / each	\$1,800.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

OPN2120943B101-18 Group 1: Section 3 - Al	kyd (Oil-Based) Paint, S	olvents, Stains			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$0.35	2000 / pound	\$700.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:			
Clean Harbors	First Offer - \$0.47	2000 / pound	\$940.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES C			

OPN2120943B1–01-19 Group 1: Section 3 - Latex Paint									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$0.35	1000 / pound	\$350.00		Υ				
Product Code:		Supplier Product Code:	•						
Agency Notes:		Supplier Notes:							
Clean Harbors	First Offer - \$0.37	1000 / pound	\$370.00		Y				
Product Code:		Supplier Product Code:	: CNOS						
Agency Notes:		Supplier Notes: CHES C	ode = CNOS						

OPN2120943B101-20 Group 1: Section 3 - Flammable Liquid, Halogenated									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$0.50	1000 / pound	\$500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Clean Harbors	First Offer - \$0.56	1000 / pound	\$560.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CHES C							

OPN2120943B101-21 Group 1: Section 3 - Flammable Liquid, non-Halogenated									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$0.25	35000 / pound	\$8,750.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Clean Harbors	First Offer - \$0.28	35000 / pound	\$9,800.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CHES Co							

OPN2120943B101-22 Group 1: Section 3 - Corrosives, Acid or Alkaline - Bulk								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Clean Earth	First Offer - \$1.00	20000 / pound	\$20,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		<b>Supplier Notes:</b> There will be a \$50 minimum for this line item.						

Clean Harbors	First Offer - \$1.30	20000 / pound	\$26,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CHES Co		

OPN2120943B101-23 Group 1: S	ection 3 - Pest	ticides				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Harbors		First Offer - \$0.90	1000 / pound	\$900.00		Y
Product Code: Agency Notes:			Supplier Product Code: I Supplier Notes: CHES Co			
Clean Earth		First Offer - \$1.00	1000 / pound	\$1,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: There wi	ill be a \$50 minimum for	this line ite	m.

OPN2120943B101-24 Group 1: Section 3 - Motor Oil									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Harbors	First Offer - \$0.24	6000 / pound	\$1,440.00		Y				
		Supplier Product Code: A31 Supplier Notes: CHES Code = A31							
Clean Earth	First Offer - \$0.25	6000 / pound	\$1,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						

OPN2120943B101-25 Group 1: Section 3 - Antifreeze									
Supplier	Unit Price Qty/Unit Total Price Attch.								
Clean Earth	First Offer - \$0.35	6000 / pound	\$2,100.00		Y				
		Supplier Product Code: Supplier Notes:							
Clean Harbors	First Offer - \$0.37	6000 / pound	\$2,220.00		Y				
Product Code:		Supplier Product Code: CNOS Supplier Notes: CHES Code = CNOS							

OPN2120943B101-26 Group 1: Section 3 -	Oil	y Water				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	П	First Offer - \$0.35	5000 / pound	\$1,750.00		Y
Product Code:		Supplier Product Code: Supplier Notes:				
Clean Harbors	Τ	First Offer - \$0.37	5000 / pound	\$1,850.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: CHES C			

OPN2120943B101-27 Group 1: Section 4 - Aerosol Cans							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$1.00	15000 / pound	\$15,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes: There w	ill be a \$50 minimum for	this line iter	n.
Clean Harbors	First Offer - \$1.10	15000 / pound	\$16,500.00		Y
Product Code:		Supplier Product Code:	LCCRQ		
Agency Notes:		Supplier Notes: CHES Co	ode = LCCRQ		

OPN2120943B101-28 Group 1: Section 4 - A	OPN2120943B1–01-28 Group 1: Section 4 - Alkyd (Oil-Based) Paint in Original Containers < 5 gallon								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$0.70	20000 / pound	\$14,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
Clean Harbors	First Offer - \$0.74	20000 / pound	\$14,800.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CHES Co							

OPN2120943B101-29 Group 1: Section 4 - P	oisons (Liquid)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$1.10	15000 / pound	\$16,500.00		Y
		Supplier Product Code: Supplier Notes:			
Clean Harbors	First Offer - \$1.30	15000 / pound	\$19,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CHES Co			

OPN2120943B1-01-30 Group 1: Section 4 - Po	oisons (Solid)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$1.10	6000 / pound	\$6,600.00		Υ
		Supplier Product Code Supplier Notes:			
Clean Harbors	First Offer - \$1.30	6000 / pound	\$7,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES C		•	

OPN2120943B101-31 Group 1: Section 4 - Po	OPN2120943B101-31 Group 1: Section 4 - PCB's (polychlorinated biphenyls)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Clean Earth	First Offer - \$2.00	100 / pound	\$200.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: There v	: will be a \$50 minimum fo	r this line ite	m.				
Clean Harbors	First Offer - \$3.50	100 / pound	\$350.00		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES C							

OPN2120943B101-32 Group 1: Section 4 - Fl	ammable Liquids						
Supplier	Unit Price	e Qty/Unit Total Price Attch. D					
Clean Earth	First Offer - \$1.00	1000 / pound	\$1,000.00		Υ		
Product Code: AAgency Notes:					m.		
Clean Harbors	First Offer - \$1.00	1000 / pound	\$1,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CHES C					

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Harbors	First Offer - \$0.91	6000 / pound	\$5,460.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES (			
Clean Earth	First Offer - \$1.00	6000 / pound	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: There	e: will be a \$50 minimum fo	r this line ite	m.

OPN2120943B101-34 Group 1: Section 4 - B	atteries for Recycle				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$1.00	2000 / pound	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: There v		r this line ite	m.
Clean Harbors	First Offer - \$1.13	2000 / pound	\$2,260.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CHES C			

OPN2120943B101-35 Group 1: Section 4 - A	lkyd (Oil-Based) Paint				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Harbors	First Offer - \$0.37	10000 / pound	\$3,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CHES Co			
	I		ı ı		

## Broward County Board of County Commissioners

Exhibit 1 Page 8 of 12

Clean Earth	First Offer - \$0.70	10000 / pound	\$7,000.00	Ϋ́Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth		First Offer - \$0.25	100000 / pound	\$25,000.00		Υ
Product Code: Agency: Notes:			Supplier Product Code: Supplier Notes:			
Clean Harbors	910	First Offer - \$0.30	100000 / pound	\$30,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: CN Supplier Notes: CHES Code			

OPN2120943B101-37 Group 1: S	ection 5 - Cori	rosives, Acid or Alkali	ne - Lab Pack			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth		First Offer - \$1.00	5000 / pound	\$5,000.00		Y
Product Code:			Supplier Product Code			
Agency Notes:			Supplier Notes:			
Clean Harbors		First Offer - \$1.00	5000 / pound	\$5,000.00		Y
Product Code:			Supplier Product Code	: LCCRA / LCCRB		
Agency Notes:			Supplier Notes: CHES C	ode = LRRCA & LCCRB		

OPN2120943B101-38 Group 1: Section 5 - O	xidizers				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Harbors	First Offer - \$1.25	1000 / pound	\$1,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CHES C			
Clean Earth	First Offer - \$3.50	1000 / pound	\$3,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: There v		r this line ite	m.

OPN2120943B101-39 Group 1: Section 5 - O	rganic Peroxides				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$5.00	100 / pound	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: There v		or this line ite	m.
Clean Harbors	First Offer - \$6.02	100 / pound	\$602.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES C			

OPN2120943B1-01-40 Group 1: Section 5 - Po	isons				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$1.10	100 / pound	\$110.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: There	: will be a \$50 minimum fo	or this line ite	m.
Clean Harbors	First Offer - \$1.25	100 / pound	\$125.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES Code = LCCR	: LCCR		

OPN2120943B101-41 Group 1: Section 5 - Fla	mmables				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$1.00	100 / pound	\$100.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: There v	: will be a \$50 minimum fo	or this line ite	m.
Clean Harbors	First Offer - \$1.25	100 / pound	\$125.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES C			

OPN2120943B1-01-42 Group 1: Section 5 - Re	eactives, USDOT 4.2, 4.3				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$5.00	100 / pound	\$500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: There	:: will be a \$50 minimum fo	or this line ite	m.
Clean Harbors	First Offer - \$6.02	100 / pound	\$602.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES C			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$8.00	100 / pound	\$800.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: There	e: will be a \$150 minimum f	for this line i	tem.
Clean Harbors	First Offer - \$25.00	100 / pound	\$2,500.00		Y

OPN2120943B1–01-44 Group 1: Section 5 - Mercury in Manufactured Articles						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Clean Earth	First Offer - \$8.00	100 / pound	\$800.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: There will be a \$150 minimum for this line item.				
Clean Harbors	First Offer - \$11.50	100 / pound	\$1,150.00		Υ	
Product Code: Agency Notes: Supplier Product Code: LCHG2 Supplier Notes: CHES Code = LCHG2						

OPN2120943B1-01-45 Group 1: Section 6 - Straight Fluorescent Light Tubes >4 Feet						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Clean Earth	First Offer - \$1.00	7000 / each	\$7,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Clean Harbors	First Offer - \$1.37	7000 / each	\$9,590.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES C				

OPN2120943B101-46 Group 1: Section 6 - Compact Fluorescent Lamps, All Shapes & Sizes <4 Ft.							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Clean Earth	First Offer - \$1.00	6000 / each	\$6,000.00		Υ		
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:					
Clean Harbors	First Offer - \$2.50	6000 / each	\$15,000.00		Y		
Product Code: Agency Notes:	Supplier Product Code: CFL2-CFL8 Supplier Notes: CHES Code = CFL2 through CFL8						

OPN2120943B101-47 Group 1: Section 6 - Fire Extinguishers > 2 Lbs						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Clean Earth	First Offer - \$20.00	100 / each	\$2,000.00		Y	
Product Code:		Supplier Product Code	:			
AgencyNotes:		Supplier Notes:				
Clean Harbors	First Offer - \$35.00	100 / each	\$3,500.00		Y	
		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

OPN2120943B101-48 Group 1: Section 6 - Fire Extinguishers < 2 Lbs						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Clean Earth	First Offer - \$15.00	100 / each	\$1,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
Clean Harbors	First Offer - \$25.00	100 / each	\$2,500.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$10.00	500 / each	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Clean Harbors	First Offer - \$15.00	500 / each	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CHES			

OPN2120943B101-50 Group 1: Section 7 - Propane Tanks, 20 lb.						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Clean Earth	First Offer - \$20.00	500 / each	\$10,000.00		Y	
Product Code:		<b>Supplier Product Code</b>	<b>:</b>			
Agency Notes:		Supplier Notes:				
Clean Harbors	First Offer - \$27.00	500 / each	\$13,500.00		Y	
Product Code:		Supplier Product Code	:: LCY1			
Agency Notes:		Supplier Notes: CHES (	Code = LCY1			

OPN2120943B101-51 Group 1: Section 7 - Pr	opane Tanks, > 20 lb.				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$30.00	100 / each	\$3,000.00		Υ
Product Code: Agency Notes:					
Clean Harbors	First Offer - \$75.00	100 / each	\$7,500.00		Y
Product Code: Agency Notes:	Supplier Product Code: LCY1 Supplier Notes: CHES Code = LCY1				

OPN2120943B101-52 Group 1: Section 7 - Ref	rigerant Gasses, all ty	pes, in original contain	ers		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Clean Earth	First Offer - \$3.50	300 / pound	\$1,050.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Clean Harbors	First Offer - \$3.65	300 / pound	\$1,095.00		Υ
Product Code: Agency Notes:		Supplier Product Code: LCY2 Supplier Notes: CHES Code = LCY2			

## **Supplier Totals**

f Clean Earth	\$408,065.00 (52/52 items)
Bid Contact KELBY NEAL	Address 402 Webster Chapel Road

kneal@cleanearthinc.com

Ph 318-396-5584

Bid Notes These rates include the fuel surcharge. Per the EPA there will be a \$25 E manifest fee per manifest.

Glencoe, AL 35905

	I ago 12 oi
<b>Supplier Notes:</b> These rates include the fuel surcharge. Pe EPA there will be a \$25 E manifest fee per manifest.	
\$483,884.00 (52/52 items)	
Address <b>PEACHTREE CITY, GA 30269</b>	
Supplier Notes:	Head Attch:
	These rates include the fuel surcharge. Po EPA there will be a \$25 E manifest fee per manifest. \$483,884.00 (52/52 items) Address PEACHTREE CITY, GA 30269

\*\*